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pileup &

(a) A white light beam is spread in a rain-  (b) At an effective reflection angle of about 42°, light
bow due to dispersion (not to scale). is more concentrated (color unrelated to wavelength).

Figure 14.6: Explaining rainbows with dispersion and internal reflection in water
droplets.
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(a) Initially unpolarized light beam gets linearly polarized. The (b) Polarizer only lets through the component parallel
transmitted electric field is reduced to E cos 6. to its polarizing axis.
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(c) If the axes of two subsequent polarizer differ by 90°,
all light gets blocked.
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To calculate the B-field and E-field using Ampere's law and Gauss' law, one must define a
closed surface.
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The sum of the voltages into a junction are the same as the sum leaving the junction.
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Current decreases when it moves through a resistor.
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A complete loop around any circuit will be equal to the battery voltage.
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Since a moving charged particle produces a magnetic field, the charged particle will feel a
force from its own movement.
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The magnetic flux through 10 loops of optical fiber is 10 times more than through 1 loop.
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A 4-sided loop of current, in which all 4 sides are perpendicular to a magnetic field, feels
zero net force, but a non-zero net torque.

CHAPTER 7. MAGNETISM
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(b) 2D in zy plane.

Figure 7.9: Rectangular current loop in an external, uniform magnetic field B = Bz.







